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4�� ��������
�����
������� ������ ���
 �����
�� ��� ��	�� ��� 9�������������������
�

��� ��
���� ��	 ��
 .����		��������������	 vc = 100 m/min ��� ��� ��
����
 <
�
���
����� +�� f = 0.12 ��* ��� +�
�����	�� ��	����	�� 
��	���� @������ ��� "%%%
��-�������
 -�������� ��	��<���	��* ����� .�C������ ��	�	����� ��� 
�		�
-
���� 7���
��� =
�������� 
�������� �
 ��� $$%%%%* ��	��<���	� ��� ����� 0��	<���	 +�� �	�� 7.3 s
���� 9����� ��
 9��
��� ��� ����
 9��
	��-� +�� 7.8 mm ��	�<
���	* 6�
 ��� ��
�����
��
��� ��������	 " ��	����	�� +�� @������ "%%% 0��	<���	�� +�
�����	� ��
 �����������
��
 ������������� ��� ��
 �������������� ������ �� �����
 !�����-���� ��
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 ��� 4�-��
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 4!�4�������� ��� ��
 ���
������ 2�	��
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��������
.�C���� �� =
����� �������� ��
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 ���	���� ���� .������� +�� �	�� #%�D�2L ��
 ?
���
���� ��
 ��������

�
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	 x(t) �	����� ���
������� ���� .���	���� x̂(t + ∆t) 
�
��	* 0��� ��
 ��������<������ ��	 ��� �<	����
���
��
 8�	� ��
 .���	����� �* �* ��� �������
��� ��
 4
�������� �������� x̂(t + ∆t) ���
��� 	�	���������� ,�
	 x(t + ∆t)� �������� ��
�� ��� ��		��
�� C���
�	������ 6����


e =
1

N

N−1∑

t=0

(x̂(t + ∆t) − x(t + ∆t))2 . �$)
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�
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�������� 
��* 7��	��	����	� 
��	���	L
�
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x̂(t + l) =

p∑

j=1

ajEt[x(t + l − j)|x(t − j), j ≥ 0] +

q∑

j=0

bjEt[ε(t + l − j)] ; �#)

Et[.] 
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	 ���� ��� 
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��
 ������������ ��������
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x̂(t + ∆t) = Θ +

H∑

h=1

vhf (x(t)wh + Θh) . �")

��� ��
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�� H �	��	 ���
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 ��� 4����� ��
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�	���	�� 2��
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x(t) = (x(t), x(t − τ), x(t − 2τ), . . . , x(t − (dE − 1) τ)) �()
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�� ���� ��� !�����������������	� dE �����
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�	��� ��
 9��	������
��
 ?��
�		������������� -���������� ��
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	 dE = 8 ��� �������	 
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